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\@ Q1. Find the domain and the range of the function f(x)=2sin (2x+1)-2
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! Q2. Find the exact value of cos™ c 5 @
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@ 3. Find the equation of the parabola that has vcrte:x(rz, 3) , passes through the
point(fl,— 3), and its axis of symmetry is parallel to the y—axis. |
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‘ B Q4. Solve the equation Asin® x +2/3sinx —2sinx ~ ‘/§ =0, 0<x<27.
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@ Q5. Find the equation of the ellipse with foci at (-2,4) and (2, 2) and eccentricity 1
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@ Q6. Find the values of &k if the following system is inconsistent
TV /2x+2ky=3
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. it
3), find the vector # that has magnitude 8 and opposite
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}_}gﬂ\\ (7. Given the vector V= (=2,
[ direction of the vector v.
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Z A Q9. Find the vertices, foci, and asymptotes of the hyperbola
4x% —9y* +16x +54y —29=0
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